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(a) “Management accounting provides immense help in management decision
making”. Discuss. (5)

(b) “Product design provides for greatest scope for cost reduction”.
Discuss. (5)

(c) Differentiate between cost accounting and Management accounting. (5)
OR

(a) “Breakeven analysis is based on simplified model of a business which is
unrealistic.” Explain and give your views. (5)

(b) A company produces a single product which sells for Rs. 20 per unit. Variable
cost is Rs. 15 per unit. Fixed overhead for the year is Rs. 6,30,000.

Required
(1) Calculate sales value needed to earn a profit of 10% of sales.

(i) Calculate selling price per unit to bring down the breakeven point to
1,20,000 units.

(i) Calculate margin of safety if profit is Rs. 60,000. (10)
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A group of 10 skilled and 20 unskilled workers are expected to produce 400 kg
of chemical BXT in 8 hours a day. The standard hourly wage rate was fixed at
Rs. 25 for skilled worker and Rs. 15 for unskilled worker. Actually a group of
15 skilled and 10 unskilled workers were deployed and paid for 8 hour a day
at an hourly rate of Rs. 22 and Rs. 18 respectively. 2 hours were wasted for the
entire group due to power failure and only 300 Kg of chemical BXT was
produced. Required to compute :—

(i) Labor cost variance
(i) Labor Rate variance
(i) Idle time variance
(iv) Labor efficiency variance
(v) Labor mix variance

(vi) Labor yield variance (15)

OR

Calculate overhead budget, volume, capacity, cost and efficiency variances from
the following given data

- Standard Hours allowed for Production 4000
- Actual hours taken for Production 4130
- Budgeted overheads on 4000 standard hours Rs. 4000
- Recovered overhead Rs. 4065
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4
- Actual overhead expenses incurred for 4130 actual hours Rs. 4022

- Standard overhead rate per hour Re. 1 (15)
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A Manufacturer has planned his level of operations at 50% of his planned capacity

of 30,000 units. His expenses are estimated as follows, if 50% of plant capacity
is utilized.

Rs.

- Direct Material 8280

- Direct wages 11160

- Variable and other manufacturing expenses 3960
- Total Fixed expenses irrespective of

Capacity utilization ' 6000

Expected selling price in the domestic market is Rs. 2 per unit. Recently the
manufacturer has received a trade enquiry from an overseas organization interested
in purchasing 6000 units at a price of Rs. 1.45 per unit. As a professional
management accountant, what would you suggest regarding the acceptance or
rejection of the offer ? Support your suggestion with suitable quantitative
information. (15)

OR

The following particulars are taken from the records of the company engaged in
manufacturing two products “A” and “ B™.

Particulars Product A Product B
(per unit) (per unit)

Rs. Rs.

Sales 2,500 5,000
Material cost (Rs. 50 per Kg) 500 1,250
Direct Labor) Rs. 30 per hour) 750 1,500
Variable overhead 250 500

Total Fixed Overhead : Rs. 10,00,000

Comment on profitability of each product when :—

(1) Total sales in value is limited. 3)
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(i) Raw material is in short supply. (3)
(i) Production capacity is the limiting factor. (3)

(iv) Total availability of raw material is 20,000 Kg and maximum sales potential
of each product is 1000 units, find the product mix to yield the maximum
profits. (6)
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A producer installed a machine which can produce Product “A” as well as Product
“B”. Annual maximum machine running capacity is 4000 hours. Cost details about
the products are as follows :—

Particulars Product A Product B
Rs. Rs.
Selling price per unit 50 20
Variable cost per unit 30 12
Machine hours required per unit of the product 10 hours 2 hours
Annual demand 300 units 1000 units

Total Fixed Cost : Rs. 10,000

Calculate optimum product mix showing annual contribution and profit. Give
necessary explanation. Also show that a product mix other than that suggested by
you will affect the profits. (15)

OR

Prepare a Cash budget for the months of May, June and July 2016 on the basis
of following information.

(i) Income and Expenditure Forecast

PTO.
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Months | Credit Credit Wages | Manufacturing Office Selling
Sales | Purchases Expenses Expenses | Expenses
Rs) (Rs) (Rs) Rs) (Rs.) (Rs)
March 60,000 | 36,000 9,000 4,000 2,000 4,000
April 62,000 | 38,000 8,000 3,000 1,500 5,000
May 65,000 | 33,000 10,000 4,500 2,500 4,500
June 5'8,000 35,000 8,500 3,500 2,000 : 3,500
July 56,000 | 39,000 9,500 4,000 1,000 4,500
August 60,000 | 34,000 8,000 3,000 1,500 4,500

(i) Cash Balance on 1 May 2016 : Rs. 8000.

(ii) Plant costing Rs. 16,000 is due for delivery in July 2016, payable 10% on

delivery and balance after 3 months.

(iv) Advance tax of Rs. 8000 each is payable in March and June.

(v) Period of credit allowed (i) by suppliers is 2 months and (i1) to customers
1 month.

(vi) Lag in payment of manufacturing expenses % month.

(vii) Lag in payment of office and selling expenses 1 month.

(15)
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fasht @de @ @ ad
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L) 60,000 36,000 9,000 4,000 2,000 4,000
CPE 62,000 38,000 8,000 3,000 1,500 5,000
LE] 65,000 33,000 10,000 4,500 2,500 4,500
Sl 58,000 35,000 8,500 3,500 2,000 3,500
IS 56,000 39,000 9,500 4,000 1,000 4,500
HATE 60,000 34,000 8,000 3,000 1,500 4,500
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5. (a) What are the basic principles of Responsibility Accounting ? (5)

(b) XYZ supplies you the following data for the year ending 31* December

2014
Production 1100 units
Sales 1000 units

There was no opening stock

Variable manufacturing cost per unit Rs. 7

Fixed manufacturing overhead (Total) Rs. 2200

Variable selling and administrative overhead per unit | Rs. 0.50

Fixed selling and administration overhead ( Total) Rs. 400
Selling Price per unit Rs. 15
Prepare

(1) Income statement under variable costing.
(i) Income statement under absorption costing.

(i) Explain the difference in profit under variable and absorption costing,
if any. (10)

OR
(a) Explain the nature and significance of
(i) Cost Centre
(1) Revenue Centre

(1)) Profit Centre (10)

(b) Diamond Manufacturers Limited manufactures two products— “X” and “Y”.
Product X takes 6 hours to make and Product Y takes 12 hours to make.
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In a month of 27 days of 8 hours each, 1200 unit of X and 750 units of Y
were produced. The firm employs 75 men in the department producing these
two products. The budgeted hours are 1,86,000 per year. Calculate the
following :

(1) Activity Ratio
(ii) Capacity Ratio (5)
(%) ITRETRA AT & @ fagrdl = Ty

(@) XYZ 31, RER 2014 N T 89 I 9§ & foe FefoRam sifews st 3 2

I noo g

fasit 1000 Ife i

w0 IS wiw A8 A

wRadt fafwin an@ wia afe 7%

fer Ao IuRem () 2200 %.

wRadt fasfia sk wamfw SoRera sfy afie | oso®

i i ik wmmates IwRaa (F4) 400 %
fawa @a wia gfve 15 %
aql'{?ﬁﬁ?:
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(i) Sreavw e Fako @ Sl - e
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(%) Fefcias = wee ik weea A e @i
(i) ava &g
(i) o =g
(iii) @ &z
(@) s Aghaad ffids X 3k Y wer @t Sanet @ o ot 2 | e X @t
T H 6 AR Y WA 12 6 w27 B D w9y F @ R s w2
HH FH R X N 1200 IR 3R Y 9 750 IR AR &5 | W 5 AR Searey @

T A ¥ 75 SR e w R 2 wee we wl ag 186,000
Ffafaa =1 wReaa i -

(i) wfcfafr s

(ii) e srama

(8500)
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